
2021_Kit Sollevamento MyBlok | TB2-LIFT-KIT-01W

Image T blustar Code Unit Material Description Descrizione
DISTINTA 

BASE
Qty.Needed

TB2-2W-020W PCS Metal
Frame for 

Skyscraper Kit 
MyBlok

Telaio per Kit 
Sollevamento MyBlok

1  

TB2-2W-021W PCS
Metal 

M10x130

Screw for 
Skyscraper Kit 

M10x130 -
MyBlok

Vite per Telaio - 
M10x130 Kit 

Sollevamento MyBlok
6  

TB2-2W-022W PCS Plastic
Plastic Washer for 

Skyscraper Kit - 
MyBlok

Rondella in resina 
per Kit Sollevamento 

MyBlok
4  

TB2-2W-023W PCS Metal
Self-Locking nut 

M10
Dado autobloccante 

M10
20  

TB2-2W-024W PCS Metal
Washer D. 10,5 for 

Skyscraper Kit- 
MyBlok

Rondella D.10,5 40  

TB2-2W-025W PCS Metal

Screw for 
Skyscraper Kit 

M10x40 -
MyBlok

Vite per Telaio - 
M10x40 Kit 

Sollevamento MyBlok
4  

TB2-2W-026W PCS Metal

Screw for 
Skyscraper Kit 

M10x25 -
MyBlok

Vite per Telaio - 
M10x25 Kit 

Sollevamento MyBlok
10  

TB-DOOR-0000014 PCS
ALUMINUM 

4,8 X 14
Small Rivet 4,8x16

Rivetto Piccolo 
4,8x16

10  


